[N
<2
N

=102 =
8 : =
= 8
S )
g 5
e}
107
107

10

_9107‘3 H
T :
14 .
1 :
0.95— . : '2 . 0.95— . '2 .
10~ 1 1 .1 10™ 1 1 .1
0 TPp0 (PCA tloobeamllnef) 0 TPp0 (PCA tloobeamllnef)
T T
—=— DQM_V0001_R000000001__Global__mkFit10000__RECO
—e— DQM_V0001_R000000001__Global__mkFit1000__RECO
= e [ i
5 L S
b i St P
2 =2
= o
° 107
102

[y
TTTT] T

o :
1071 1

-1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f)

o p/p.)

0103 I | |
gt
[vd C
| e e A A 0 0 A 0 0 0 A
05— i i v .
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


